e

O

[l
FH
o
2
FU

S0 AQAIR JL0| S
5 N0l SEOF QNS
ittt

2006. 4

014 - O1ZIA]



At dl

K

30
K
{F

)=
)
oll
K0
0l






NS =

K=t X9 HE

EEE

JISC] THH X JHY

— CNPC®! Sinopec 2JHAL0 THS =&1S € TH™ (19884)

- CNOOCS

o3 M=II80 EHI

* MQIHNE HE
- AJIE, 29, &S AR ST FOB JH WY (20014 10E]

o

AAE S (2000E)

1 . O

- 20064 122 OIJH HEH2 JIAXI=R 0l
S PNt

- I'*A1|°|UI

HI=3 2lAl =& 21Ut (20024), =+

_I_rOAIII- JHI:II-
ﬁI]H s T ATAXEHEIL 018 (20043 12E)
o THRSFE A=AFI 618 (20064 128)

— A OI."
- MQHIE 5

& SHIXl (2004'3)

o TR I.l.'l:l"l‘.l'f-!:. WETITUTE



=2l 010 S&:- 4

QHIE 5o

& WTO 72! 3 Al 10H200249)
- 212 16YOHE » SN
- Z|®Q: 9% - 5%, S8: 12% - 6%
- AQ 6% S8 %= 2002 0|M S
* NQHIE 2UZHOl C13
- 2002 00l 2 4IHAITHO| R
“HI2Y YL U MQHE A 01}
o NQHIE 2UST X 22 NQHEO| [IU3Y
- =9 ZM0| £20IM LS, HS S 4
- IHIIAS DD A
¢ 20054 HEO| HQI} M

- AU 16.9%, =5t 22.3%

U MRS

3

A0l
T a



¢ CNPCQ! Sinopec ALO[C] J1H B M -’-E.“*
- HETIZIHEAATHIIZEIHA)C] Aot

% SIS AR 55% He ¢-§9§ B

¢ 200441 20054 RIHSS ADION A48 JIETHH =8
- 28 AHIXES X 598 A58 I 1Y

- 2004~20054 8AHdICl V=) =8

¢ AR, 2R 2 HBJIH0| BRIIA o1
- 200514 62 TIHJIHS 20044 38 SOHIH2 ()
%Y 168% AR 284% A4S
x 0] JI2t 5 FRIHE 50% 014 A5

-I-

|.



A=%t 019 S A=2E2 = Mg

¢ 59| 30U MRAM= JIFSIIPOIE & 804 =d XI=X =
¢ CNPC, R/D Shelldl MIT ‘ADIS+ &

HU
2
|m
ol
fa

& MHEE EX
— Sinopec, ExxonMobildl HIE #S A &&
— CNOOC, R/D Shelldl HIE Maolst TZ=ME

¢ DHF=E §Xi
- PetroChina, BPQt SO0 = MR HIS TIHS Al &Kl
- Sinopec, BPR} MIFOI0 M0 =742 5001 Xl 23 OIS



A=t 012 S8 M=HIS TUHAIX

¢ CNPC THOHAIXI
- 153: PetroChina &XIRIAI2! S FTUSADL =
ZX= T
- 281 DR XIS BUSADE A5 A& SO, S
- 3B (&) TS AP XX+ 2= =0H, A0
x &OF SRR, =) HIHSADL F/49 AHIXtH T

¢ Sinopec TOHMIXI
- S MO AR A% 6 AP M L
— 2000 M%) THOIHZ2 AL 14000170 S (%) THOHZ AL
- S5, NS TS Al

- O{Et QA St =58 TS






o132

o
2
1)
)
1

& MSUIE 20 SN

- AW £TEH TEH MALE FE(LAL LPG) 52
Qe 2

o ECTEEE

* MQHE 59 =X

a T= o
- 200449 MSNE E4HTHY Hl=S 26.6%
% T S 37 838, B-CR

SIS0l =2 NS 83w, 87

- %u =2 =3 31.3%, 2= 31.2%
- BE ¥ 2EE WAL 3R, AR
- 53 ¥ +3%:B-C], ¥3%. 39



3l
A
A_.

OF
<l

o

ol

K0
wir

ol

ol

<k
i

OF
<l

0lJ

% 20049 B2 14.2%, AL2L] 17.3%

~
K|0
ol

<+
oF

oF

K0
ir
ol

KiD
<k

HiD

OF
<l

™
Kio
)
ir

KD
<k

of
H
Ol

KI0

% 3= +=HIS 20014 21.4%, 20044 49.4%



3l
i
A_.

OF
<l

ol
KI0

K0
wir

ol

ol

<k
i

OF
<l

% 20008 14230=, 20043 30940t=

E

- T HUI=: 8t 23.5%, & 5.3%

K0
ir
ol

KiD
<k

HiD

OF
<l

KD
<

Of

<0
KI0

JD

- 20044 0|

10



"



F30]

Al © X

HAIE 2

1TTI o
¢ 5= HHAE2 S0HAIA HIE0] =2 UIH SN2 FF
- SO0HAIA 44%, E=IHE A 3.3%
¢ 200449 HHI=E 58188Db/d, )I=E 94%(BP XI=)
x b/d %
7000 100
6000 199
180
5000 -~ l B . 4 70
4000 — 180
41 50
3000 | 1 40
2000 + 1 30
4120
1000 -
410
0 ‘ ‘ ‘ ‘ ‘ ‘ ‘ 0
1994 1995 1996 1997 1998 1999 2000 2001 2002 2003 2004
s sy mmmd A s E

12

ErEray DODONTIRCS M TITUTE



=39 4843

gdA

(o

| B

g

¢ 59| 4

13

MRS

| x
=

Ol(BP XI&)

1200

1000

800

600

400

200

# b/d (|

)

M b/d(s

QUHEHA)
8000

K
-+ 4000
-+ 3000
-+ 2000
-+ 1000
0

-+ 7000

-+ 6000

5000

1994

1995

1996 1997

1998

1999

2000

2001 2002

. K =

—h—

M
1

o

(@]

AL
T =

M s

2003

2004

D'!I_-III'E :EII“""—_r‘I
R DOOHHONTIC S, WS T

LRy

T

=
T



== SHAId SIS

¢ 2008 NEX| 1.56442b/d Al- ’é’é‘[PIW May 23, °05)
xIF A= 2010EN0HX1 1.8942tb/d S &, 0.4942th/d HIJI(CPR Mar.30,°06)

4 Sinopec

- OOl 168tb/d : 20064

- A< 208/d : 20074

- HIot0l 168tb/d : 20084

- 2 X2 168th/d : 20074

- M010] AHIA(409b/d) AIAJHAM - 20084
4 CNPC (PetroChinal

- JIE AMA0IM 218h/d &4

& CNOOC
- $0|XQ 240H/d HMS

14 €& P N



S30| Qs TWA MY

¢ s =29 HAVL U U0 S =&+ S
- 2010890HXl M8 SIIE 1.4~1.8%2b/d
- 201089 =3I 2.234 0tb/d(H T = 6% St 3]

& £22Q: ¥ 341~7694b/d, 20104 653~1,171&b/d

b/d

10000
9000 |-
8000 r
7000 |-
6000 |-
5000 |-
4000 -
3000 r
2000
1000 -

0]

2005 2010

15 & oL TIE T o B

W R COOONTRCS WS TITWTE



30| AQHEY SR WY
* 2010 =39 ARNE U= U8R, HALLPG, 87 =AM
-3 FexQ= 7708b/d (°05'9 IEE) M T

=2 A 25

Hb/d % &b/d % Hb/d

ER 1,433 18.6 1,433 20.7 0

= Al 923 12.0 761 11.0 163
sw/MER 362 4.7 362 0.2 0
a7 2,139 30.6 2,700 39.1 39
=S 1,062 13.8 666 9.6 397
LPG 798 104 622 9.0 175
J|El 367 4.8 366 0.3 0
et 1,689 1000 | 6,915 100.0 7170

16



17



=W > = HIIH

TR
(S A e

Mo
{2

A

18



NS it Al W) > MDD

P, - P
o Jzmg: ap = 220 =P

a, +b, +abé

2,0(P, —P )

¢ 3 BIHSH2: AQ,, =
= ° Qus a,+b, +abé

& 2 FoS}: AQ, = bl‘g(Po_Pf)
ese=Tr “ a, +b, +abo

_ (aobl + albo )9 o (al + bl)a:)f
a, +b, +abé

19 €



= WHIHE < zHIIH

=143

v oooR

o~ i i

v Py BB
il b i
L kg By T
i S A
A -
&

=8 EF35

[

L P PR

20



NS 2at Al WIS < MDD

_ aObl + albO _(al + bl)Pd
a, +b, +abé

¢ JIAEYL: AP

EI_ - AQ _ aObl + a'IbO _(al + bl)Pd
' A b,(a, +b, +a,b )

4
Ok

TS

&

_ aObl + albO _(al + bl)Pd

<& 2289 A
=U s=5d¢ Q a, (a +b, +ab0)

_ (aobl + albO )9_ (a1 + b1)6Pd
a, +b, +ab6

21 €



OichHiEl =S98 X lis+d

¢ =2 a85ME FAd0l= 9, a,, b, by &k =H
45 02 o] B3 ditdl= UEH|IE
-a, = [P—agl/Q, b,=1/¢-P/Q, b,=P(1+1/¢)

¢ =30 AI2E Xi== 1d8ul(ay), =HIHAP), = HIIHEEP),
JIAES e ), HIH 2 HIS(Q,)

IBH [=geiz | B (o AHIE
[a[]] I\ [Pd_Pf] [e) [0[]]
dEw $5.81/b | +S3.00/b {02 04,06 | 910&b/d
29 | $581/b | -$253/b |02 04, 06| 21898b/d

22



23



AIZIHE0l 21t JHHH

21

=29 Ji
AP FEHE

RPN

| ES BT =2 =

il 01=10F

(S S/HE)

JHEE(6) e=0.2 e=0.4 €=0.6
1 -0.162 -0.142 -0.126

5 -0.667 -0.595 -0.538

10 -1.091 -0.994 -0.912

20 -1.600 -1.493 -1.399

30 -1.895 -1.793 -1.702
100 -2.553 -2.496 -2.441
500 -2.899 -2.884 -2.869

00 -3.000 -3.000 -3.000




AIZDHE0 oot MIHE Bigk AE R
TR JIHAEHY0| RS+ Szl &1, A" A0 2=
sz 3
(H<: Eb/d)

IHEE(6] e =02 =04 e =0.6

1 0.438 0.765 1.018

B 1.802 3.218 4.359

10 2.949 5.370 7.394

20 4.325 8.068 11.340

30 5.121 9.691 13.794

100 6.900 13.490 19.790

500 7.833 15.584 23.256

00 8.107 16.213 24.320

25




ARSI it =32 B9k SR
¢ A5 79 U S dac A== SH 0l=2H MOk
dAl UErE
(E$1: Hb/d)

JHEE(6) e=0.2 e=0.4 e =0.6

1 -2.399 -2.093 -1.857

5 -9.863 -8.805 -7.952

10 -16.138 -14.693 -13.468

20 -23.666 -22.075 -20.684

30 -28.024 -26.515 -25.161

100 -37.758 -36.909 -36.098

500 -42.862 -42.640 -42.419

co -44.361 -44.361 -44.361

26




AMZINE0 oIt =13 Bigk AR
¢ Q9| JIHAEHY0| &5 Teg sl 21 4
- 2 Al FIHAQL A 34 0
(H<: Eb/d)

IS e =02 e=04 e =0.6

1 2.838 2.858 2.874

5 11.665 12.023 12.311

10 19.087 20.064 20.880

20 27.991 30.143 32.024

30 33.145 36.206 38.955

100 44.658 50.399 55.887

500 50.695 b8.224 65.675

00 52.168 60.574 68.681

27



0l O W=EH =&
(EH91: $/HHE

e =0.2 e=0.4 € =0.6
0.000 0.000 0.000
0.219 0.249 0.278
0.812 0.893 0.966
1.548 1.632 1.703
1.778 1.851 1.911

2.088 2.138 2177
2.288 2.317 2.340
2.530 2.530 2.530




AZIHE0 OBt TiiE B3k
¢ =29 IIAHEHY0| Z2 A 0| &4, VIHEEY0| 25
a4 =0 2
(E$1: Hb/d)

JHEE(6) e=0.2 e=0.4 e =0.6

I H(co] 0.000 0.000 0.000

500 -0.585 -1.332 -2.234

100 -2.175 -4.780 -7.759
30 -4.145 -8.740 -13.679
20 -4.761 -9.913 -19.352
10 -5.592 -11.450 -17.492
B -6.127 -12.412 -18.803
2 2H0) -6.775 -13.550 -20.325

29



3]

[
1:-9.-'
0

AIZIHE0l 2iet WSS

¢ 2XNBO0l OIF0ME T2 zUHS=3F S)i= & 4.358 b/d=

e
(H<: Eb/d)
JHEE(0) e=0.2 e =0.4 e =0.6
JHE H([co] 0.000 0.000 0.000
500 3.762 4.281 4.787
100 13.979 15.364 16.625
30 26.642 28.090 29.310
20 30.603 31.860 32.895
10 35.946 36.799 37.481
5 39.385 39.892 40.288
2+M ) EH0) 43.951 43.951 43.551

30 & oL =T e m



¢ =29 JIAEH Y0 HEsE Fgdazibig 3

- ATIHDA ANEERE &S 2 3%
(H<: Eb/d)

JHEE(6) e=0.2 e =0.4 e =0.6

Y H(co) 49.030 06.937 64.044

500 44.798 50.982 57.008

100 33.295 36.594 39.598

30 19.037 20.072 20.943

20 14.578 19.177 15.670

10 8.562 8.765 8.927

5 4.690 4.751 4.798

24 ) BH0) 0.000 0.000 0.000

31 & OiL-iTI=a T o B



OHT
HI
(=
1z
30
E
I.=.I
18
=
E

¢ 22 SIYUHARME ¢% x Hg}
- dHlsS Ul =231 £5J1 &dM 201098 2 40~502tb/d
=2 &Y
- Xl NS AaR= A0 Ml =20l SHHC=E
=l Si
- 37 AR IE sUsa SE 8= UIS
- =8 AZEU X SH0 TE WF1 2 St
¢ 22 TEM SR UHS= uF+x2 W)
- 221 2RO S = AR & %Jl

% 201089 A5 R ==WSI(IEE) =3): 22 5158b/d, 8= 166%1b/d
-o=R9 UliS= B & =1
% 201089 B/ ==0WSI(IEE) =3): 2= 358Db/d, Bt= 2458b/d

32 & O TI23 T S e &

W R COOONTRCS WS TITWTE



